

Au	ıtauga	1								MYA Price		Assumes Co Assum	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	-	-	-	\$5.15	_	-	-	-	-
Canola	Pound	All	_	-	_	_	_	\$0.32	_	-	-	_	_
Corn	Bushel	All	164.21	\$3.70	\$607.58	\$522.52	\$60.76	\$5.45	95.87	84.73	164.21	\$3.18	\$2.81
Corn	Bushel	Irrigated	_	-	_	_	_	\$5.45	_	-	-	-	_
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	_	-	-	-	-
Grain Sorghum	Bushel	All	42.33	\$3.95	\$167.20	\$143.79	\$16.72	\$5.45	26.38	23.32	42.33	\$3.40	\$3.00
Oats	Bushel	All	45.67	\$2.67	\$121.94	\$104.87	\$12.19	\$4.00	26.22	23.17	45.67	\$2.30	\$2.03
Peanuts	Pound	All	2,947.33	\$0.27	\$788.41	\$678.03	\$78.84	\$0.24	2,854.82	2,522.91	2,947.33	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,023.32	\$0.37	\$742.56	\$638.60	\$74.26	\$0.46	1,385.83	1,224.70	2,023.32	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	34.00	\$9.12	\$310.08	\$266.67	\$31.01	\$13.00	20.51	18.13	34.00	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	1,101.00	\$0.20	\$221.85	\$190.79	\$22.19	\$0.32	601.83	531.86	1,101.00	\$0.17	\$0.15
Wheat	Bushel	All	44.57	\$5.50	\$245.14	\$210.82	\$24.51	\$7.30	28.88	25.52	44.57	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	1	-	-	-	-	\$7.30	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



Ва	ldwin	1								MYA Price		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	-	-	_	\$5.15	_	_	_	-	-
Canola	Pound	All	_	_	-	-	_	\$0.32	_	_	_	_	_
Corn	Bushel	All	_	_	_	_	_	\$5.45	_	_	_	_	_
Corn	Bushel	Irrigated	188.08	\$3.70	\$695.90	\$598.47	\$69.59	\$5.45	109.81	97.04	188.08	\$3.18	\$2.81
Corn	Bushel	Nonirrigated	161.09	\$3.70	\$596.03	\$512.59	\$59.60	\$5.45	94.05	83.12	161.09	\$3.18	\$2.81
Grain Sorghum	Bushel	All	46.25	\$3.95	\$182.69	\$157.11	\$18.27	\$5.45	28.83	25.48	46.25	\$3.40	\$3.00
Oats	Bushel	All	49.67	\$2.67	\$132.62	\$114.05	\$13.26	\$4.00	28.51	25.20	49.67	\$2.30	\$2.03
Peanuts	Pound	All	-	· -	· -	· -	· -	\$0.24	-	-	-	-	· -
Peanuts	Pound	Irrigated	4,701.21	\$0.27	\$1,257.57	\$1,081.51	\$125.76	\$0.24	4,553.68	4,024.21	4,701.21	\$0.23	\$0.20
Peanuts	Pound	Nonirrigated	4,153.74	\$0.27	\$1,111.13	\$955.57	\$111.11	\$0.24	4,023.41	3,555.62	4,153.74	\$0.23	\$0.20
Seed Cotton	Pound	All	2,078.02	\$0.37	\$762.63	\$655.86	\$76.26	\$0.46	1,423.29	1,257.81	2,078.02	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Irrigated	51.47	\$9.12	\$469.41	\$403.69	\$46.94	\$13.00	31.05	27.44	51.47	\$7.84	\$6.93
Soybeans	Bushel	Nonirrigated	42.19	\$9.12	\$384.77	\$330.90	\$38.48	\$13.00	25.45	22.49	42.19	\$7.84	\$6.93
Sunflower Seed	Pound	All	1,131.00	\$0.20	\$227.90	\$195.99	\$22.79	\$0.32	618.23	546.37	1,131.00	\$0.17	\$0.15
Wheat	Bushel	All	48.49	\$5.50	\$266.70	\$229.36	\$26.67	\$7.30	31.42	27.77	48.49	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



Ва	rboui	•								MYA Price			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$5.15	_	-	-	_	_
Canola	Pound	All	_	_	_	_	_	\$0.32	_	_	_	_	_
Corn	Bushel	All	_	_	_	_	_	\$5.45	_	_	_	-	_
Corn	Bushel	Irrigated	190.95	\$3.70	\$706.52	\$607.61	\$70.65	\$5.45	111.49	98.52	190.95	\$3.18	\$2.81
Corn	Bushel	Nonirrigated	123.82	\$3.70	\$458.13	\$393.99	\$45.81	\$5.45	72.29	63.89	123.82	\$3.18	\$2.81
Grain Sorghum	Bushel	All	39.07	\$3.95	\$154.33	\$132.72	\$15.43	\$5.45	24.35	21.52	39.07	\$3.40	\$3.00
Oats	Bushel	All	44.07	\$2.67	\$117.67	\$101.20	\$11.77	\$4.00	25.30	22.36	44.07	\$2.30	\$2.03
Peanuts	Pound	All	4,137.67	\$0.27	\$1,106.83	\$951.87	\$110.68	\$0.24	4,007.83	3,541.85	4,137.67	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Irrigated	2,885.48	\$0.37	\$1,058.97	\$910.71	\$105.90	\$0.46	1,976.35	1,746.55	2,885.48	\$0.32	\$0.28
Seed Cotton	Pound	Nonirrigated	2,104.98	\$0.37	\$772.53	\$664.38	\$77.25	\$0.46	1,441.78	1,274.15	2,104.98	\$0.32	\$0.28
Soybeans	Bushel	All	35.37	\$9.12	\$322.57	\$277.41	\$32.26	\$13.00	21.34	18.86	35.37	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	50.67	\$5.50	\$278.69	\$239.67	\$27.87	\$7.30	32.83	29.01	50.67	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



В	lount									MYA Price ection		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$5.15	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_	\$0.32	_	_	_	_	_
Corn	Bushel	All	167.38	\$3.70	\$619.31	\$532.61	\$61.93	\$5.45	97.72	86.36	167.38	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	_	-	-	-	\$5.45	_	-	-	-	-
Grain Sorghum	Bushel	All	42.20	\$3.95	\$166.69	\$143.35	\$16.67	\$5.45	26.30	23.24	42.20	\$3.40	\$3.00
Oats	Bushel	All	-	-	-	-	-	\$4.00	-	-	-	-	-
Peanuts	Pound	All	3,136.33	\$0.27	\$838.97	\$721.51	\$83.90	\$0.24	3,037.89	2,684.67	3,136.33	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	3,245.84	\$0.37	\$1,191.22	\$1,024.45	\$119.12	\$0.46	2,223.18	1,964.69	3,245.84	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	46.88	\$9.12	\$427.55	\$367.69	\$42.76	\$13.00	28.28	24.99	46.88	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	72.30	\$5.50	\$397.65	\$341.98	\$39.77	\$7.30	46.85	41.40	72.30	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



Ві	ıllock									MYA Price ection		Assumes C Assun	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	-	-	-	\$5.15	_	_	-	-	-
Canola	Pound	All	_	-	_	_	_	\$0.32	_	_	-	_	_
Corn	Bushel	All	130.25	\$3.70	\$481.93	\$414.46	\$48.19	\$5.45	76.05	67.21	130.25	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	_	-	_	_	\$5.45	_	_	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	_	_	-	-	-
Grain Sorghum	Bushel	All	40.33	\$3.95	\$159.30	\$137.00	\$15.93	\$5.45	25.14	22.21	40.33	\$3.40	\$3.00
Oats	Bushel	All	50.33	\$2.67	\$134.38	\$115.57	\$13.44	\$4.00	28.89	25.53	50.33	\$2.30	\$2.03
Peanuts	Pound	All	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,286.83	\$0.37	\$839.27	\$721.77	\$83.93	\$0.46	1,566.32	1,384.20	2,286.83	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	30.67	\$9.12	\$279.71	\$240.55	\$27.97	\$13.00	18.50	16.35	30.67	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	51.00	\$5.50	\$280.50	\$241.23	\$28.05	\$7.30	33.04	29.20	51.00	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



В	utler									MYA Price ection		Assumes C Assun	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	-	-	_	\$5.15	_	_	-	-	-
Canola	Pound	All	-	-	_	_	_	\$0.32	_	_	-	_	-
Corn	Bushel	All	91.05	\$3.70	\$336.89	\$289.73	\$33.69	\$5.45	53.16	46.98	91.05	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	_	_	-	-	-
Grain Sorghum	Bushel	All	46.33	\$3.95	\$183.00	\$157.38	\$18.30	\$5.45	28.88	25.52	46.33	\$3.40	\$3.00
Oats	Bushel	All	-	-	-	-	-	\$4.00	-	-	-	-	-
Peanuts	Pound	All	3,311.24	\$0.27	\$885.76	\$761.75	\$88.58	\$0.24	3,207.33	2,834.40	3,311.24	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	1,970.46	\$0.37	\$723.16	\$621.92	\$72.32	\$0.46	1,349.63	1,192.71	1,970.46	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	33.14	\$9.12	\$302.24	\$259.93	\$30.22	\$13.00	19.99	17.67	33.14	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	47.87	\$5.50	\$263.29	\$226.43	\$26.33	\$7.30	31.02	27.41	47.87	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



Ca	lhoun									MYA Price		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	-	-	-	-	\$5.15	_	_	-	-	_
Canola	Pound	All	_	_	_	_	_	\$0.32	_	_	-	-	_
Corn	Bushel	All	162.90	\$3.70	\$602.73	\$518.35	\$60.27	\$5.45	95.11	84.05	162.90	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	-	_	-	_	-
Grain Sorghum	Bushel	All	42.33	\$3.95	\$167.20	\$143.79	\$16.72	\$5.45	26.38	23.32	42.33	\$3.40	\$3.00
Oats	Bushel	All	-	-	-	-	-	\$4.00	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,730.14	\$0.37	\$1,001.96	\$861.69	\$100.20	\$0.46	1,869.97	1,652.54	2,730.14	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	34.56	\$9.12	\$315.19	\$271.06	\$31.52	\$13.00	20.85	18.43	34.56	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	60.14	\$5.50	\$330.77	\$284.46	\$33.08	\$7.30	38.97	34.44	60.14	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



Cha	mber	rs								MYA Price		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	-	-	-	-	\$5.15	_	-	-	-	_
Canola	Pound	All	_	_	-	_	-	\$0.32	_	-	-	-	-
Corn	Bushel	All	115.87	\$3.70	\$428.72	\$368.70	\$42.87	\$5.45	67.65	59.79	115.87	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	_	-	_	\$5.45	_	-	-	-	_
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	_	_	-	_	-
Grain Sorghum	Bushel	All	45.00	\$3.95	\$177.75	\$152.87	\$17.78	\$5.45	28.05	24.79	45.00	\$3.40	\$3.00
Oats	Bushel	All	50.07	\$2.67	\$133.69	\$114.97	\$13.37	\$4.00	28.74	25.40	50.07	\$2.30	\$2.03
Peanuts	Pound	All	-	-	-	-	-	\$0.24	_	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	1,955.54	\$0.37	\$717.68	\$617.20	\$71.77	\$0.46	1,339.39	1,183.66	1,955.54	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	35.07	\$9.12	\$319.84	\$275.06	\$31.98	\$13.00	21.16	18.70	35.07	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	1,131.00	\$0.20	\$227.90	\$195.99	\$22.79	\$0.32	618.23	546.37	1,131.00	\$0.17	\$0.15
Wheat	Bushel	All	55.00	\$5.50	\$302.50	\$260.15	\$30.25	\$7.30	35.64	31.49	55.00	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	1	-	-	-	-	\$7.30	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



Che	eroke	e								MYA Price		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	-	-	-	\$5.15	_	-	-	-	-
Canola	Pound	All	_	-	_	_	_	\$0.32	_	-	-	-	_
Corn	Bushel	All	131.46	\$3.70	\$486.40	\$418.30	\$48.64	\$5.45	76.75	67.83	131.46	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	_	_	\$5.45	_	-	-	-	_
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	_	-	-	_	-
Grain Sorghum	Bushel	All	42.33	\$3.95	\$167.20	\$143.79	\$16.72	\$5.45	26.38	23.32	42.33	\$3.40	\$3.00
Oats	Bushel	All	55.67	\$2.67	\$148.64	\$127.83	\$14.86	\$4.00	31.96	28.24	55.67	\$2.30	\$2.03
Peanuts	Pound	All	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,442.05	\$0.37	\$896.23	\$770.76	\$89.62	\$0.46	1,672.63	1,478.17	2,442.05	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	32.56	\$9.12	\$296.95	\$255.38	\$29.70	\$13.00	19.64	17.36	32.56	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	61.60	\$5.50	\$338.80	\$291.37	\$33.88	\$7.30	39.91	35.27	61.60	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	1	-	-	-	-	\$7.30	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



CI	nilton									MYA Price ection		Assumes C Assun	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$5.15	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_	\$0.32	_	_	_	_	_
Corn	Bushel	All	116.08	\$3.70	\$429.50	\$369.37	\$42.95	\$5.45	67.77	59.89	116.08	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	-	-	-	-	-
Grain Sorghum	Bushel	All	-	-	-	-	-	\$5.45	-	-	-	-	-
Oats	Bushel	All	-	-	-	-	-	\$4.00	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	2,146.66	\$0.37	\$787.82	\$677.53	\$78.78	\$0.46	1,470.31	1,299.37	2,146.66	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-	-	-	-
Soybeans	Bushel	All	33.33	\$9.12	\$303.97	\$261.41	\$30.40	\$13.00	20.11	17.77	33.33	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	44.17	\$5.50	\$242.94	\$208.93	\$24.29	\$7.30	28.62	25.29	44.17	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



C	offee										MYA Price ection			ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre		2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_		\$5.15	_	_	-	_	_
Canola	Pound	All	_	_	_	_	_		\$0.32	_	_	_	_	_
Corn	Bushel	All	_	_	_	_	_		\$5.45	_	_	_	_	_
Corn	Bushel	Irrigated	206.38	\$3.70	\$763.61	\$656.70	\$76.36		\$5.45	120.49	106.48	206.38	\$3.18	\$2.81
Corn	Bushel	Nonirrigated	98.75	\$3.70	\$365.38	\$314.23	\$36.54		\$5.45	57.66	50.95	98.75	\$3.18	\$2.81
Grain Sorghum	Bushel	All	32.40	\$3.95	\$127.98	\$110.06	\$12.80		\$5.45	20.19	17.85	32.40	\$3.40	\$3.00
Oats	Bushel	All	42.53	\$2.67	\$113.56	\$97.66	\$11.36		\$4.00	24.41	21.58	42.53	\$2.30	\$2.03
Peanuts	Pound	All	-	-	· -	· -	· -		\$0.24	_	-	-	-	
Peanuts	Pound	Irrigated	4,614.62	\$0.27	\$1,234.41	\$1,061.59	\$123.44		\$0.24	4,469.81	3,950.11	4,614.62	\$0.23	\$0.20
Peanuts	Pound	Nonirrigated	2,873.57	\$0.27	\$768.68	\$661.06	\$76.87		\$0.24	2,783.37	2,459.75	2,873.57	\$0.23	\$0.20
Seed Cotton	Pound	All	1,641.69	\$0.37	\$602.50	\$518.15	\$60.25		\$0.46	1,124.44	993.71	1,641.69	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-		\$0.46	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-		\$0.46	-	-	-	-	-
Soybeans	Bushel	All	39.77	\$9.12	\$362.70	\$311.92	\$36.27		\$13.00	23.99	21.20	39.77	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-		\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-		\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-		\$0.32	-	-	-	-	-
Wheat	Bushel	All	35.93	\$5.50	\$197.62	\$169.95	\$19.76		\$7.30	23.28	20.57	35.93	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-		\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-		\$7.30				-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



Co	olbert									MYA Price		Assumes Co Assum	•
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	-	_	\$5.15	_	_	_	-	_
Canola	Pound	All	_	_	_	-	_	\$0.32	_	_	-	_	_
Corn	Bushel	All	_	_	_	_	_	\$5.45	_	_	_	_	_
Corn	Bushel	Irrigated	224.86	\$3.70	\$831.98	\$715.50	\$83.20	\$5.45	131.28	116.02	224.86	\$3.18	\$2.81
Corn	Bushel	Nonirrigated	176.98	\$3.70	\$654.83	\$563.15	\$65.48	\$5.45	103.33	91.32	176.98	\$3.18	\$2.81
Grain Sorghum	Bushel	All	52.33	\$3.95	\$206.70	\$177.76	\$20.67	\$5.45	32.61	28.82	52.33	\$3.40	\$3.00
Oats	Bushel	All	-	-	-	-	-	\$4.00	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-	-	-	-
Seed Cotton	Pound	All	-	-	-	-	-	\$0.46	-	-	-	-	-
Seed Cotton	Pound	Irrigated	3,724.83	\$0.37	\$1,367.01	\$1,175.63	\$136.70	\$0.46	2,551.26	2,254.62	3,724.83	\$0.32	\$0.28
Seed Cotton	Pound	Nonirrigated	2,432.76	\$0.37	\$892.82	\$767.83	\$89.28	\$0.46	1,666.28	1,472.55	2,432.76	\$0.32	\$0.28
Soybeans	Bushel	All	42.27	\$9.12	\$385.50	\$331.53	\$38.55	\$13.00	25.50	22.54	42.27	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-	-	-	-
Wheat	Bushel	All	73.27	\$5.50	\$402.99	\$346.57	\$40.30	\$7.30	47.47	41.95	73.27	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-	-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



Conecuh										Assumes MYA Price Projection				Assumes County Yield Assumption	
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre		2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/		2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_		\$5.15	_	_		_	_	_
Canola	Pound	All	1,495.00	\$0.20	\$301.24	\$259.07	\$30.12		\$0.32	809.56	715.47		1,495.00	\$0.17	\$0.15
Corn	Bushel	All	109.50	\$3.70	\$405.15	\$348.43	\$40.52		\$5.45	63.93	56.50		109.50	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-		\$5.45	-	-		-	-	-
Corn	Bushel	Nonirrigated	_	_	-	_	_		\$5.45	_	_		-	-	_
Grain Sorghum	Bushel	All	45.67	\$3.95	\$180.40	\$155.14	\$18.04		\$5.45	28.46	25.16		45.67	\$3.40	\$3.00
Oats	Bushel	All	46.93	\$2.67	\$125.30	\$107.76	\$12.53		\$4.00	26.94	23.81		46.93	\$2.30	\$2.03
Peanuts	Pound	All	3,496.01	\$0.27	\$935.18	\$804.25	\$93.52		\$0.24	3,386.27	2,992.55		3,496.01	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-		\$0.24	· -	-		-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-		\$0.24	_	-		-	-	-
Seed Cotton	Pound	All	1,970.72	\$0.37	\$723.25	\$622.00	\$72.33		\$0.46	1,349.80	1,192.86		1,970.72	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	_	-	-	-	-		\$0.46	-	-		-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-		\$0.46	-	-		-	-	-
Soybeans	Bushel	All	31.87	\$9.12	\$290.65	\$249.96	\$29.07		\$13.00	19.23	16.99		31.87	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-		\$13.00	-	-		-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-		\$13.00	-	-		-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-		\$0.32	-	-		-	-	-
Wheat	Bushel	All	54.53	\$5.50	\$299.92	\$257.93	\$29.99		\$7.30	35.33	31.22		54.53	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-		\$7.30	-	-		-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-		\$7.30	-	-		-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



Covington										Assumes MYA Price Projection				Assumes County Yield Assumption	
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre		2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/		2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	-	_	_		\$5.15	_	_		_	_	_
Canola	Pound	All	-	-	_	-	_		\$0.32	_	_		-	_	_
Corn	Bushel	All	94.00	\$3.70	\$347.80	\$299.11	\$34.78		\$5.45	54.88	48.50		94.00	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-		\$5.45	-	-		-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-		\$5.45	-	-		-	-	-
Grain Sorghum	Bushel	All	44.27	\$3.95	\$174.87	\$150.39	\$17.49		\$5.45	27.59	24.39		44.27	\$3.40	\$3.00
Oats	Bushel	All	45.47	\$2.67	\$121.40	\$104.40	\$12.14		\$4.00	26.10	23.07		45.47	\$2.30	\$2.03
Peanuts	Pound	All	3,537.76	\$0.27	\$946.35	\$813.86	\$94.64		\$0.24	3,426.74	3,028.29		3,537.76	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-		\$0.24	-	-		-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-		\$0.24	-	-		-	-	-
Seed Cotton	Pound	All	1,970.96	\$0.37	\$723.34	\$622.07	\$72.33		\$0.46	1,349.96	1,193.01		1,970.96	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-		\$0.46	-	-		-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-		\$0.46	-	-		-	-	-
Soybeans	Bushel	All	35.14	\$9.12	\$320.48	\$275.61	\$32.05		\$13.00	21.20	18.74		35.14	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-		\$13.00	-	-		-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-		\$13.00	-	-		-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-		\$0.32	-	-		-	-	-
Wheat	Bushel	All	45.60	\$5.50	\$250.80	\$215.69	\$25.08		\$7.30	29.55	26.11		45.60	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-		\$7.30	-	-		-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-		\$7.30	-	-		-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



Crenshaw										Assumes MYA Price Projection			Assumes County Yield Assumption	
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre	2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/		2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	-	-	-	\$5.15	_	-		-	-	-
Canola	Pound	All	_	-	_	_	_	\$0.32	_	-		-	-	-
Corn	Bushel	All	116.15	\$3.70	\$429.76	\$369.59	\$42.98	\$5.45	67.81	59.93		116.15	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-	\$5.45	-	-		-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$5.45	_	-		-	-	-
Grain Sorghum	Bushel	All	43.40	\$3.95	\$171.43	\$147.43	\$17.14	\$5.45	27.05	23.91		43.40	\$3.40	\$3.00
Oats	Bushel	All	51.93	\$2.67	\$138.65	\$119.24	\$13.87	\$4.00	29.81	26.34		51.93	\$2.30	\$2.03
Peanuts	Pound	All	2,165.07	\$0.27	\$579.16	\$498.08	\$57.92	\$0.24	2,097.14	1,853.31		2,165.07	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.24	-	-		-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.24	-	-		-	-	-
Seed Cotton	Pound	All	1,818.56	\$0.37	\$667.41	\$573.97	\$66.74	\$0.46	1,245.57	1,100.76		1,818.56	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.46	-	-		-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.46	-	-		-	-	-
Soybeans	Bushel	All	32.04	\$9.12	\$292.20	\$251.29	\$29.22	\$13.00	19.33	17.08		32.04	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$13.00	-	-		-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$13.00	-	-		-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.32	-	-		-	-	-
Wheat	Bushel	All	38.20	\$5.50	\$210.10	\$180.69	\$21.01	\$7.30	24.75	21.87		38.20	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-	\$7.30	-	-		-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$7.30	-	-		-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields



Cullman										Assumes MYA Price Projection				Assumes County Yield Assumption	
Crop Name	Unit	ARC-CO Yield Designation	2022 Benchmark Yield (2016-20 olympic avg)	2022 Benchmark Price (2016-20 olympic avg)	2022 Benchmark Revenue per Acre	2022 Revenue Guarantee per Acre	2022 Maximum Payment Rate per Acre		2022/23 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/		2022-23 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	45.17	\$4.95	\$223.59	\$192.29	\$22.36		\$5.15	37.34	33.00		45.17	\$4.26	\$3.76
Canola	Pound	All	-	-	-	-	-		\$0.32	-	-		-	-	-
Corn	Bushel	All	177.57	\$3.70	\$657.01	\$565.03	\$65.70		\$5.45	103.67	91.62		177.57	\$3.18	\$2.81
Corn	Bushel	Irrigated	-	-	-	-	-		\$5.45	-	-		-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-		\$5.45	_	-		-	-	-
Grain Sorghum	Bushel	All	41.00	\$3.95	\$161.95	\$139.28	\$16.20		\$5.45	25.55	22.58		41.00	\$3.40	\$3.00
Oats	Bushel	All	60.40	\$2.67	\$161.27	\$138.69	\$16.13		\$4.00	34.67	30.64		60.40	\$2.30	\$2.03
Peanuts	Pound	All	-	-	-	-	-		\$0.24	-	-		-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-		\$0.24	-	-		-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-		\$0.24	-	-		-	-	-
Seed Cotton	Pound	All	2,775.11	\$0.37	\$1,018.47	\$875.88	\$101.85		\$0.46	1,900.76	1,679.75		2,775.11	\$0.32	\$0.28
Seed Cotton	Pound	Irrigated	-	-	-	-	-		\$0.46	-	-		-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-		\$0.46	-	-		-	-	-
Soybeans	Bushel	All	49.27	\$9.12	\$449.34	\$386.43	\$44.93		\$13.00	29.72	26.27		49.27	\$7.84	\$6.93
Soybeans	Bushel	Irrigated	-	-	-	-	-		\$13.00	-	-		-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-		\$13.00	-	-		-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-		\$0.32	-	-		-	-	-
Wheat	Bushel	All	71.83	\$5.50	\$395.07	\$339.76	\$39.51		\$7.30	46.54	41.13		71.83	\$4.73	\$4.18
Wheat	Bushel	Irrigated	-	-	-	-	-		\$7.30	-	-		-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-		\$7.30	-	-		-	-	-

<sup>-</sup> represents no base acres for that commodity/designation in the county

<sup>1/</sup> Authors calculations

<sup>2/</sup> County Yield Assumptions are the olympic average of the 2016-2020 county yields